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. thearea of A =464 -20%2=064 =8
the perimeter of A = 4X8 =32 in

. 24
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68.
69.

70.

71.

A
1=1
3=1+2

6=1+2+3

10 = 142+3+4
1+3+6+10=20
0.24%1.5%0.5

= 0.24x0.75
= 0.06X(4x0.75)

18

30 + 52 =155
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increment from the
previous night

#nickels

1* night

1=1°

— 1

2" night

4=2

> 5

3" night

9=3

14

4" night

16 =4

30

5" night

25=75"

55
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77.
78.
79.
80.

Issue 1
385
See the following table.
increment #nickels
from the
previous night
1% night 1=1 [+ -1
2% night 4=22 = 1%*5
3 night 9 =3 14
4™ night 16 = 4 30
5" night 25=75 55
6" night 36 = 6 91
7™ night 49="72 140
8™ night 64 =8’ 204
9" night 81=9 285
10" night 100 = 10° 385
B

2.94+10 = 0.294 (per ounce)
1.56+6 = 0.26 (per ounce)

0.75%2=1.5

1.5-1.25 = $0.25
(4+2) % 1.39 =278

4x0.9 =3.6

3.6 - 2.78 = $0.82
3in (A) & 6 in (B) & 6 in (C) & 5 in (D)
2in (A) & 5in (B) & 8 in (C) & 5 in (D)
Gin (A) & 8in (B) & 7 in (C) & 4 in (D)
3in (A) & 7in (B) & 7 in (C) & 5 in (D)
5in (A) & 12in (B) & 2in (C) & 5 in (D)
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